Preterite stem changing verbs
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YO MORIR

TU PEDIR

TU MORIR

YO REPETIR

USTED MORIR

YO DORMIRSE
USTED SERVIR
USTEDES MORIR
USTEDES PEDIR
NOSOTROS PEDIR
NOSOTROS MORIR
VOSOTROS DORMIR
VOSOTROS SERVIR
USTEDES DIVERTIR
NOSOTROS DIVERTIR
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YO PEDIR

YO DORMIR

TU DORMIR

TU SEGUIR

YO DIVERTIR

TU MORIRSE

USTED DORMIR
USTED REPETIR

YO DIVERTIRSE
USTEDES SERVIR
USTED DIVERTIR
NOSOTROS SEGUIR
NOSOTROS DORMIR
NOSOTROS MORIRSE
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YO SEGUIR
YQSERVIR

TU SERVIR

YO MORIRSE
U§TEDPEDIR

TU DIVERTIR

USTED SEGUIR
USTED MORIRSE
USTED DORMIRSE
USTEDES DORMIR
TU DIVERTIRSE
NOSOTROS SERVIR
NOSOTROS REPETIR

VOSOTROS DORMIRSE
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